PSE 476
Homework #8
Due 2/2/05

	1. Please indicate which C9 units (which rings) will form quinone methide structures when this lignin molecule is placed in cold alkaline solution. (2 points)
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	a) Rings 3, 8, and 9

b) Rings 1, 3, 8, and 12
c) Rings 1, 3, 8, 12, and 13

d) Rings 1, 3, 8, 9, 12, and 13

e) Rings 1, 3, 8, 9, 12, 13, and 14


	2. How many different quinone methide structures will this compound form in alkali? (1 point)
a) 0

b) 1

c) 2
	
[image: image2.wmf]C

H

2

O

H

O

H

O

C

H

3



	3. How many different quinone methide structures will this compound form in alkali? (1 point)

a) 0

b) 1
c) 2

d) 3
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	4. How many different quinone methide structures will this compound form in alkali? (1 point)

a) 0

b) 1

c) 2

d) 3
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	5. How many different quinone methide structures will this compound form in alkali? (1 point)

a) 0

b) 1

c) 2

d) 3
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	6. Is the following lignin compound split into two monomers through the action of NaOH at elevated temperature? (1 point)

a) Yes

b) No
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	7. Is the following lignin compound split into two monomers through the action of NaOH at elevated temperature? (1 point)

a) Yes

b) No
	[image: image7.wmf]O

C

H

3

H

C

H

3

C

O

R

R

O

H

3

C

O




	8. Is the following lignin compound split into two monomers through the action of NaOH at elevated temperature? (1 point)

a) Yes

b) No
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	9. Is the following lignin compound split into two monomers through the action of NaOH at elevated temperature? (1 point)

a) Yes

b) No
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	10. Is the following lignin compound split into two monomers through the action of NaOH and Na2S at elevated temperature? (1 point)

a) Yes

b) No
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	11. Is the following lignin compound split into two monomers through the action of NaOH and Na2S at elevated temperature? (1 point)

a) Yes

b) No
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